THeE F470H RERUKF-HBHT=ZAKE S-D

55BF IR <12 :49L—FKA(46)>

AY—5
1 2 3 4 BEER | 7-umez | JEfL
“mEaE (BH s5a5EETC) 61 61 60 3-0 1
2 BHIEE (R Barsssiims) 16 60 61 2-1 2
3 PEEMH (LB TTA) 16 06 56 0-3 4
4 #ERE (FH 50T BHFS) 06 16 65 1-2 3
BIU—4
5 6 1 8 BR[| r-imes | JEfL
BPEMBN AR ARTAU—-T0) 60 60 62 2-1 2
6 HiEE®E (A& SPAC) 65 61 62 3-0 1
1 NBEE (25 50T B17%) 06 16 26 0-3 4
8 BEHRE (LE 7224578 26 26 62 1-2 3
cy—4o
9 10 1 12 BB | 7-imgs | JEGL
OnBEx (AK £IFRETC) 61 61 61 3-0 1
10 /Mo (BRE HEBY-vTC) 16 63 16 1-2 10.347 4
11 it & Gk 7RAVF-9TC) 16 36 64 1-2 [0.384 3
12 BHHE (BEH MAX) 16 61 46 1-2 [0.458| 2
1 -2 b—F Ak s AL R—F A b
A-1 FREI=Y: 3 A-3 # E R 61
C-2 BEHHE C-4 INATHEE 76(1)
B-2 RS B-4 NEEE 62
C-1 NES -3 Nt & — 60
A-2 BEIIES A-4 pEsh  — |63
B-1 HEEE B-3 BEAERR _l




